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Cramer’s Rules
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(1) N (@ A
12x + 3y =24 5x+ 2y =22
7x+ 2y =21 11x + 5y =25
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() RO, A
8x + 4y =24 4x + 2y =16
12x+ 3y =12 9x +4y =18
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() N (9 A
7x + 2y = 24 10x + 15y = 20
12x + 3y =21 x+2y=15
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3x+ 12y =6 22x+y=11
6x + 18y =18 1lx+y =22
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13x+ 2y =13 2x+y=19
7x+y=14 19x+9y =18
o AN /
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a2

Matrices
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(D A
12x + 3y =24
7x + 2y = 21 (-5, 28)
- /
() A
8x +4y =24
12x + 3y = 12 )
- J
() A
7x + 2y = 24
12x + 3y =21 (10, 47)
- /
O, A
3x+ 12y =6
(6' '1)
6x + 18y =18
- /
() A
13x+ 2y =13
(15,-91)
7x+y=14
N /

Cramer’s Rules
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5x+ 2y =22
20, -39
11x + 5y =25 ( )
4x + 2y =16
-14, 36
9x +4y =18 ( )
10x + 15y = 20
-37, 2
x+2y =15 (-37,26)
22x+y=11
(-1, 33)
11x+y =22
2x+y=19
(-153, 325)
19x+9y =18

www.softschools.com




